H
H
o <,

=

1000/0 2do)/d(m_1 + m_2) [1/GeV]
H
o

1072

1073

1074

Ratio to CMS
[N

0.5

7000 GeV pp Jets
= I T I T I T I T | T I T I T I I T | T I T I I T I:_fg
— _ 1%
B Filtered Jet Mass (anti-k (0.7), 2800<p_ <1000, |y|<2.5) 13
—— _—2
= m CMS = R
- ¢ Sherpa 2.2.8 default o
- —

n o
N o =3
= * do. =
— L L. x
- o o, ]
! by _
= ""l.., =
- ! -, ]

: IR
= " BCRE
— m
= : =
- ]
S T S PR S PR =
- ¢ ® 3
- . . * .
- ) ",..0..‘." ,v" Q_"‘ .
- >y y | Q Pt -
¥ T -
B K .
- ¢ .
, R R

0 100 200

(m 1+m 2)/2[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


